H & 0l & AHS B Ml A

ol ASMESH(HSTEI2) (12l M2
SA - ZE . BR() - HRAR - BES of v G o HIDE2
M= ARH 2 2,823,288 2,515,288 308,000
=g 25,000 17,000 8,000
Hede==4(MSTEII3) 25,000 17,000 8,000
Sl |4 25,000 17,000 8,000
307 @I2t0| & 25,000 17,000 8,000
02 QB AANEE R 25,000 17,000 8,000
oMENZTSZ3 AEAEE X3
6,250,000 *42] 25,000
HEES(HSAEA) 2,798,288 2,498,288 300,000
SENE(MXS)(HSTEIIS) 2,798,288 2,498,288 300,000
H=ds8Jl= HXs 2,798,288 2,498,288 300,000
602 KIXl=S 2,798,288 2,498,288 300,000
01 eHXi=s 2,798,288 2,498,288 300,000
=JlsWXxl= 2,798,288,000& 2,798,288
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